OO <EHMDELA HFFEE> No.l OO

OO HEBEHICMEBELGEMOEHR OO
IA(ZUAR7) = 1000mA(ZYT7oRT) - TERIOFHE
IN(Za2—hkY) = 100g . 1m2 = 100cm X 100cm = 10000cm? -+ [EHIDFHE

-ROBIEZE( IADBEGIZELASILY,
(1) 200mA [ A ] (2) 840mA [ A ]

( ) ( )
(3) 50mA [ A ] (4) 25mA [ A ]

( ) ( )
(5) 120mA [ A ] 6 200g [ N 1]

( ) ( )
(7)) 1300g [ N ] (8 450g [ N 1]

( ) ( )
9 9g [ N | (100 10000g [ N ]

( ) ( )
(11) 20000cm2 [ m? ] (12) 4500cm? [ m? |

( ) ( )
(13) 560cm? [ m? | (14) 300cm? [ m? ]

( ) ( )
(15) 15cm CORBOEE [ m2 ] (16) 8cm CORBOEE [ m?2 ]
10cm 6cm

( ) ( )

OO AfIFTIUE OO
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